
Pensieve header: A determinant bug in mathematica version 9. (Fixed in 9.0.1)

$Version

9.0 for Microsoft Windows H64-bitL HNovember 20, 2012L

mat is a 2x2 matrix with entries rational functions in x, y, z.
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The determinant of mat as computed by Det is not the same as ad-bc:
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And the difference is not merely a failure of Simplify; indeed the difference diff is non-zero even when 

specialized to numerical values of x, y, z:

vals = ThreadB8x, y, z< ® NB: 2 , Π, E>FF

8x ® 1.41421, y ® 3.14159, z ® 2.71828<
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